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750 750 550 102.5 100.0 109 | 100 | 525 225 350 525 4 600
1000 1000 700 100.0 100.0 109 | 100 | 525 475 600 525 4 800
1250 1250 850 105.5 105.2 130 | 130 | 525 725 750 525 4 1,140
1500 1500 1000 100.0 100.0 130 | 130 | 525 975 1000 525 4 1,340
1750 1750 1150 108.2 107.9 160 | 160 | 625 | 1125 1050 475 6 1,820
2000 2000 1300 100.0 100.0 160 | 160 | 625 | 1375 1300 475 6 2,020
2250 2250 1450 109.7 109.6 190 | 190 | 625 | 1625 1450 475 6 2,620
2500 2500 1600 100.0 100.0 190 | 190 | 625 | 1875 1700 475 6 2,820
2750 2750 1750 110.8 110.7 220 | 220 | 875 | 1875 1850 475 6 3,550
3000 3000 1900 100.0 100.0 220 | 220 | 875 | 2125 2100 475 6 3,750
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750 750 600 102.5 100.0 109 | 100 | 525 225 350 525 4 630
1000 1000 750 100.0 100.0 109 | 100 | 525 475 600 525 4 820
1250 1250 900 105.5 103.5 130 | 130 | 525 725 750 525 4 1,170
1500 1500 1050 100.0 100.0 130 | 130 | 525 975 1000 525 4 1,360
- 1750 1750 1200 | 1250 108.2 | 1053 |102.6 | 160 | 160 | 625 | 1125 1050 475 6 1,850 | 1,880
<§( 2000 2000 1350 | 1450 100.0 | 100.0 | 100.0 | 160 | 160 | 625 | 1375 1300 475 6 2,040 | 2,090
2 2250 2250 1500 | 1650 109.7 | 106.3 | 100.0 | 190 | 190 | 625 | 1625 1450 475 6 2,650 | 2,730
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'<_£ 2500 2500 1650 | 1800 100.0 | 100.0 | 100.0 | 190 | 190 | 625 | 1875 1700 475 6 2,850 {2,930
% 2750 2750 1800 | 2000 110.8 | 107.1 | 100.0 | 220 | 220 | 875 | 1875 1850 475 6 3,570 | 3,670
% 3000 3000 1950 | 2150 100.0 | 100.0 | 100.0 | 220 | 220 | 875 | 2125 2100 475 6 3,770 {3,870
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